2 Temporary Work Zone Traffic Control, Complete LS 1.0 \$209,972.64 \$200,000.00 \$500,000.00 \$214,341.00 \$214,341.00 \$41,500 \$	PROJECT# W66134								
BIO OFENIO : 2.00 PM 12/17/2028 ITEM						K&F FXCA\	ATING INC	MARCIIM &	SONS LLC
## DOPENING : 2:00 PM 12/17/2025 ## DOP	BID RESULTS			ENGINEER'S ESTIMATE		3871 LANGLEY ST SE		, , ,	
International Control of Part Par									
TEM		REDMOND, OR 97756							
1 Mobilization LS 1.0 \$438.162.90 \$381.62.00 \$327.00.00 \$329.20.00 \$192.20.00									
2 Temporary Work Zone Traffic Control, Complete LS 1.0 \$50,000 97.544 \$50,6972.64 \$50,000 00 \$60,000 00 \$214,431.00 \$45,000 00 \$					_				
Section Common I.S. 1.0 85,000.00 87,500.00 87,500.00 84,500.00				, ,				,	\$189,236.00
4 Cheek Dam, Type 1 EACH 560 \$180,000 \$110,000 \$6,160,000 \$120,000 \$3,7000 \$3,000 \$50.									\$214,341.00
Sectiment Fence									\$4,500.00
6 Construction Survey Work 1. S. 1.0 \$100,000.00 \$10,000.00 \$17,500.00 \$33,000.00 \$39,000.00 7. Removal Of Structures And Obstructions 1. S. 1.0 \$40,000.00 \$10,000.00 \$17,500.00 \$7,70									\$7,000.00
Part								•	\$50,850.00
B Asphalt Pavement Saw Cutting FOOT 700.0 \$5.00 \$3.500.0 \$3.500.0 \$3.500.0 \$3.500.0 \$3.500.0 \$3.500.0 \$3.500.0 \$3.500.0 \$3.500.0 \$3.500.0 \$3.500.0 \$3.500.0 \$3.500.0 \$3.500.0 \$3.500.0 \$3.500.0 \$14.50 \$14.50 \$14.50 \$14.50 \$17.50 \$90.77.50 \$17.50 \$90.0 \$14.50 \$17.50 \$90.0 \$14.50 \$17.50 \$90.0 \$3.70.00 \$14.50 \$17.50 \$90.00 \$3.70.00 \$14.50 \$1.70.00 \$3.500.00 \$3.70.00 \$,				\$39,000.00
9									\$7,500.00
10 General Excavation	- J								\$3,500.00
11 Subgrade Stabilization							, ,		\$164,185.00
12			,						\$501,754.75
13 Riprap Basins EACH 5.0 \$750.00 \$3,750.00 \$2,259.00 \$1,295.00 \$865.00 \$4,325.00 \$12,95.00 \$2,200.00 \$1,295.00 \$2,200.00 \$1,295.00 \$2,200.00 \$1,205.00									\$27,500.00
14 12 Inch Ductile Iron Storm Pipe, 5 Foot Depth	1,						, ,		\$2,000.00
15						•		· ·	\$4,325.00
16									\$29,900.00
17 Drainage Curbs				, ,	, ,				\$1,700.00
18	16 Concrete Inlets, Ditch Inlet								\$1,800.00
19								·	\$14,625.00
Pull Depth Reclamation Base									\$2,000.00
Level 3, 1/2 Inch ACP Mixture, PG 58-34ER									\$592,513.00
EXCHA FOR Asphalt Approaches									\$120,802.50
23									\$2,048,025.00
24						, ,			\$37,925.00
25									\$23,400.00
26 Guardrail, Type 2A FOOT 562.5 \$40.00 \$22,500.00 \$32.00 \$18,000.00 \$26.00 \$14,622									\$24,200.00
27 Midwest Guardrail System, Type 2A FOOT 3,092.5 \$75.00 \$231,937.50 \$31.00 \$95,867.50 \$34.00 \$105,14 28 Guardrail Terminals, Non-Flared EACH 12.0 \$5,000.00 \$60,000.00 \$33,000.00 \$33,000.00 \$33,000.00 \$33,000.00 \$33,000.00 \$33,000.00 \$33,000.00 \$35,500.00 29 Guardrail Terminals, Flared EACH 1.0 \$4,600.00 \$4,600.00 \$3,900.00 \$33,900.00 \$33,500.00 \$35,500.00 30 Extra For B Foot Posts EACH 66.0 \$100.00 \$6,600.00 \$75.00 \$4,950.00 \$85.50 \$55.610 31 Extra For Hand Dug Guardrail Posts EACH 38.0 \$300.00 \$11,400.00 \$280.00 \$10,640.00 \$125.00 \$4,750.00 32 Delineators, Type 1 Delineators, Type 1 EACH 240.0 \$75.00 \$18,000.00 \$105.00 \$25,200.00 \$60.00 \$14,400 33 Thermoplastic, Extruded Or Sprayed, Surface, Non-Profiled FOOT 117,100.0 \$11.00 \$117,100.00 \$115.00 \$25,200.00 \$60.00 \$114,400 34 Pavement Legend, Type AB: Stop EACH 4.0 \$800.00 \$3,200.00 \$580.00 \$2,230.00 \$525.00 \$0.99 \$115,90 35 Pavement Legend, Type AB: Stop EACH 4.0 \$1,000.00 \$4,000.00 \$225.00 \$3,700.00 \$850.00 \$2,200.00 \$6,800.00 \$3,400.00 \$3,400.00 \$3,400.00 \$3,400.00 \$3,400.00 \$3,400.00 \$3,400.00 \$3,400.00 \$3,400.00 \$3,400.00 \$3,400.00 \$3,400.00 \$3,400.00 \$4,000.00 \$4,	· J								\$3,500.00
Suardrail Terminals, Non-Flared									\$14,625.00
29 Guardrail Terminals, Flared EACH 1.0 \$4,600.00 \$4,600.00 \$3,900.00 \$3,900.00 \$3,550.00 \$3,5									\$105,145.00
Starta For 8 Foot Posts	,			1 - 1			,	1 - /	\$36,000.00
Star For Hand Dug Guardrail Posts									\$3,550.00
32 Delineators, Type 1 EACH 240.0 \$75.00 \$18,000.00 \$105.00 \$25,200.00 \$60.00 \$114,400 \$33 Thermoplastic, Extruded Or Sprayed, Surface, Non-Profiled FOOT 117,100.0 \$1.00 \$117,100.00 \$1.05 \$122,955.00 \$0.99 \$115,92 \$34 Pavement Legend, Type AB: Stop EACH 4.0 \$800.00 \$3,200.00 \$580.00 \$2,320.00 \$555.00 \$2,100 \$35 Pavement Legend, Type AB: Stop Ahead EACH 4.0 \$1,000.00 \$4,000.00 \$925.00 \$3,2700.00 \$850.00 \$3,2700.00 \$850.00 \$3,200.00 \$									\$5,610.00
33 Thermoplastic, Extruded Or Sprayed, Surface, Non-Profiled FOOT 117,100.0 \$1.00 \$117,100.00 \$1.05 \$122,955.00 \$0.99 \$115,92									\$4,750.00
34 Pavement Legend, Type AB: Stop EACH 4.0 \$800.00 \$3,200.00 \$580.00 \$2,320.00 \$525.00 \$2,100 35 Pavement Legend, Type AB: Stop Ahead EACH 4.0 \$1,000.00 \$4,000.00 \$925.00 \$3,700.00 \$850.00 \$3,400 36 Pavement Legend, Type AB: Bisycle Lane Stencil EACH 16.0 \$450.00 \$7,200.00 \$425.00 \$6,800.00 \$400.00 \$6,400 37 Pavement Legend, Type AB: Shared Lane Marking EACH 16.0 \$500.00 \$8,000.00 \$425.00 \$6,800.00 \$400.00 \$6,400 38 Pavement Bar: Type AB SQFT 260.0 \$12.00 \$3,120.00 \$14.00 \$3,640.00 \$12.75 \$3,315 39 Green Bicycle Lane, Preformed Thermoplastic Film SQFT 1,350.0 \$25.00 \$33,750.00 \$14.00 \$18,900.00 \$12.75 \$3,315 40 Remove Existing Signs LS 1.0 \$10,000.00 \$10,000.00 \$15,500.00 \$16,425.00 \$61,425.00 \$61,425.00 \$61,4									\$14,400.00
Standard Standard Stop Ahead Stop Ahead Standard Stand			,						\$115,929.00
36 Pavement Legend, Type AB: Bicycle Lane Stencil EACH 16.0 \$450.00 \$7,200.00 \$425.00 \$6,800.00 \$400.00 \$6,400 \$37 Pavement Legend, Type AB: Shared Lane Marking EACH 16.0 \$500.00 \$8,000.00 \$425.00 \$6,800.00 \$400.00 \$6,400 \$38 Pavement Bar: Type AB SQFT 260.0 \$12.00 \$3,120.00 \$14.00 \$3,640.00 \$12.75 \$3,315 \$39									\$2,100.00
37 Pavement Legend, Type AB: Shared Lane Marking EACH 16.0 \$500.00 \$8,000.00 \$425.00 \$6,800.00 \$400.00 \$6,400 38 Pavement Bar: Type AB SQFT 260.0 \$12.00 \$3,120.00 \$14.00 \$3,640.00 \$12.75 \$3,315 39 Green Bicycle Lane, Preformed Thermoplastic Film SQFT 1,350.0 \$25.00 \$33,750.00 \$14.00 \$18,900.00 \$13.20 \$17,820 40 Remove Existing Signs LS 1.0 \$10,000.00 \$10,000.00 \$5,500.00 \$5,500.00 \$41,60									\$3,400.00
38 Pavement Bar: Type AB SQFT 260.0 \$12.00 \$3,120.00 \$14.00 \$3,640.00 \$12.75 \$3,315 39 Green Bicycle Lane, Preformed Thermoplastic Film SQFT 1,350.0 \$25.00 \$33,750.00 \$14.00 \$18,900.00 \$13.20 \$17,820 40 Remove Existing Signs LS 1.0 \$10,000.00 \$10,000.00 \$5,500.00 \$5,500.00 \$4,160.00 \$4,160.00 41 Sign Support Footings LS 1.0 \$20,000.00 \$20,000.00 \$15,500.00 \$61,425.00 \$61,425.00 42 Perforated Steel Square Tube Slip Base Sign Supports LS 1.0 \$35,000.00 \$35,000.00 \$53,000.00 \$50,050.00 \$61,425.00									\$6,400.00
39 Green Bicycle Lane, Preformed Thermoplastic Film SQFT 1,350.0 \$25.00 \$33,750.00 \$14.00 \$18,900.00 \$13.20 \$17,820 \$40 Remove Existing Signs LS 1.0 \$10,000.00 \$10,000.00 \$5,500.00 \$5,500.00 \$4,16	3 7 71								\$6,400.00
40 Remove Existing Signs LS 1.0 \$10,000.00 \$10,000.00 \$5,500.00 \$5,500.00 \$4,160.00 \$4,160.00 41 Sign Support Footings LS 1.0 \$20,000.00 \$20,000.00 \$15,500.00 \$15,500.00 \$61,425.00	· · · · · · · · · · · · · · · · · · ·								\$3,315.00
41 Sign Support Footings LS 1.0 \$20,000.00 \$20,000.00 \$15,500.00 \$15,500.00 \$61,425.00 \$61,425.00 \$61,425.00 \$61,425.00 \$61,425.00 \$61,425.00 \$61,425.00 \$61,425.00 \$61,425.00 \$61,425.00 \$61,425.00 \$61,425.00 \$61,425.00 \$61,425.00 \$61,425.00 \$61,425.00 \$50,050.00 \$13,000.00 \$60,050.00 \$77,500.00 \$80,000.00 \$10,000.00 \$27,000.00 \$31,000.00 \$27,000.00 \$27,000.00 \$27,000.00 \$27,000.00 \$27,000.00 \$22,000.00 \$21,000.00 \$22,000.00 \$22,000.00 \$22,000.00 \$22,000.00 \$22,000.00 \$22,000.00 \$22,000.00 \$22,000.00	, ,							·	\$17,820.00
42 Perforated Steel Square Tube Slip Base Sign Supports LS 1.0 \$35,000.00 \$35,000.00 \$53,000.00 \$50,050.00 \$50,050.00 43 Signs, Standard Sheeting, Extruded Aluminum SQFT 757.5 \$30.00 \$22,725.00 \$42.00 \$31,815.00 \$46.00 \$34,845 44 Water Quality Mixture CUYD 1,800.0 \$91.32 \$164,376.00 \$85.00 \$153,000.00 \$77.50 \$139,50 45 Permanent Seeding ACRE 9.0 \$4,000.00 \$36,000.00 \$31,000.00 \$27,900.00 \$3,200.00 \$28,800 46 Removing And Rebuilding Fence FOOT 3,100.0 \$25.00 \$77,500.00 \$27.00 \$83,700.00 \$22,000 \$70,060 47 Single Mailbox Support EACH 2.0 \$550.00 \$11,000.00 \$650.00 \$13,000.00 \$650.00 \$13,000.00 \$22,000.00 \$1,375.00 \$30,250.00 \$1,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$1,000.00 \$22,000.00 \$1,300.00 <td< td=""><td></td><td></td><td></td><td></td><td></td><td>. ,</td><td></td><td></td><td>\$4,160.00</td></td<>						. ,			\$4,160.00
43 Signs, Standard Sheeting, Extruded Aluminum SQFT 757.5 \$30.00 \$22,725.00 \$42.00 \$31,815.00 \$46.00 \$34,845 44 Water Quality Mixture CUYD 1,800.0 \$91.32 \$164,376.00 \$85.00 \$153,000.00 \$77.50 \$139,50 45 Permanent Seeding ACRE 9.0 \$4,000.00 \$36,000.00 \$3,100.00 \$27,900.00 \$3,200.00 \$28,800 46 Removing And Rebuilding Fence FOOT 3,100.0 \$25.00 \$77,500.00 \$27.00 \$83,700.00 \$22.60 \$70,060 47 Single Mailbox Support EACH 20.0 \$550.00 \$11,000.00 \$650.00 \$13,000.00 \$650.00 \$1,000.00 \$22,000.00 \$1,300.00 \$4,000.00 \$80,000 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 <t< td=""><td></td><td></td><td></td><td>,</td><td>, ,,,,,,,,</td><td></td><td></td><td></td><td>\$61,425.00</td></t<>				,	, ,,,,,,,,				\$61,425.00
44 Water Quality Mixture CUYD 1,800.0 \$91.32 \$164,376.00 \$85.00 \$153,000.00 \$77.50 \$139,50 45 Permanent Seeding ACRE 9.0 \$4,000.00 \$36,000.00 \$3,100.00 \$27,900.00 \$3,200.00 \$28,800 46 Removing And Rebuilding Fence FOOT 3,100.0 \$25.00 \$77,500.00 \$27.00 \$83,700.00 \$22.60 \$70,060 47 Single Mailbox Support EACH 20.0 \$550.00 \$11,000.00 \$650.00 \$13,000.00 \$650.00 \$13,000.00 \$22,000.00 \$1,300.00 \$20,000.00 \$20,000.00 \$1,300.00 \$20,000.00 \$80,000.00								. ,	\$50,050.00
45 Permanent Seeding ACRE 9.0 \$4,000.00 \$36,000.00 \$3,100.00 \$27,900.00 \$3,200.00 \$28,800 46 Removing And Rebuilding Fence FOOT 3,100.0 \$25.00 \$77,500.00 \$27.00 \$83,700.00 \$22.60 \$70,060 47 Single Mailbox Support EACH 20.0 \$550.00 \$11,000.00 \$650.00 \$13,000.00 \$650.00 \$13,000.00 48 Multiple Mailbox Support EACH 22.0 \$1,000.00 \$22,000.00 \$1,375.00 \$30,250.00 \$1,000.00 \$22,000.00 49 New Mailbox EACH 2.0 \$500.00 \$1,000.00 \$650.00 \$1,300.00 \$4,000.00 \$8,000									\$34,845.00
46 Removing And Rebuilding Fence FOOT 3,100.0 \$25.00 \$77,500.00 \$27.00 \$83,700.00 \$22.60 \$70,06 47 Single Mailbox Support EACH 20.0 \$550.00 \$11,000.00 \$650.00 \$13,000.00 \$650.00 \$13,000.00 \$650.00 \$13,000.00 \$22,000.00 \$1,375.00 \$30,250.00 \$1,000.00 \$22,000.00 \$1,300.00 \$4,000.00 \$80,0	The state of the s							·	\$139,500.00
47 Single Mailbox Support EACH 20.0 \$550.00 \$11,000.00 \$650.00 \$13,000.00 \$650.00 \$13,000.00 \$13,000.00 \$22,000.00 \$13,000.00 \$22,000.00 \$1,375.00 \$30,250.00 \$1,000.00 \$22,000.00 \$1,300.00 \$20,000.00 \$20,000.00 \$30,250.00 \$1,300.00 \$20,000.00 \$30,250.00 \$30,000.00	- 3								\$28,800.00
48 Multiple Mailbox Support EACH 22.0 \$1,000.00 \$22,000.00 \$1,375.00 \$30,250.00 \$1,000.00 \$22,000.00 49 New Mailbox EACH 2.0 \$500.00 \$1,000.00 \$650.00 \$1,300.00 \$4,000.00 \$8,000			-,						\$70,060.00
49 New Mailbox EACH 2.0 \$500.00 \$1,000.00 \$650.00 \$1,300.00 \$4,000.00 \$8,000	J II					•		· ·	\$13,000.00
						. ,		. ,	\$22,000.00
TOTAL = \$5,740,054.13 TOTAL = \$4,682,005.00 TOTAL = \$4,887,3	49 New Mailbox	EACH	2.0					. ,	\$8,000.00
				TOTAL =	\$5,740,054.13	TOTAL =	\$4,682,005.00	TOTAL =	\$4,887,366.25

BID RESULTS BID OPENING: 2:00 PM 12/17/2025				S ESTIMATE	BAR SEVEN A CO. 1060 SE LAKE RD REDMOND, OR 97756		TAYLOR NORTHWEST 18500 BULL SPRINGS ROAD BEND, OR 97703		
	ITEM	UNIT	QTY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	Mobilization	LS	1.0	\$438,162.99	\$438,162.99	\$110,000.00	\$110,000.00	\$386,827.41	\$386,827.41
2	Temporary Work Zone Traffic Control, Complete	LS	1.0	\$206,972.64	\$206,972.64	\$108,075.00	\$108,075.00	\$160,500.00	\$160,500.00
3	Erosion Control	LS	1.0	\$5,000.00	\$5,000.00	\$33,000.00	\$33,000.00	\$6,745.00	\$6,745.00
4	Check Dam, Type 1	EACH	56.0	\$180.00	\$10,080.00	\$350.00	\$19,600.00	\$275.00	\$15,400.00
5	Sediment Fence	FOOT	16,950.0	\$5.00	\$84,750.00	\$2.70	\$45,765.00	\$2.70	\$45,765.00
6	Construction Survey Work	LS	1.0	\$100,000.00	\$100,000.00	\$35,000.00	\$35,000.00	\$41,900.00	\$41,900.00
7	Removal Of Structures And Obstructions	LS	1.0	\$40,000.00	\$40,000.00	\$32,240.00	\$32,240.00	\$20,940.00	\$20,940.00
8	Asphalt Pavement Saw Cutting	FOOT	700.0	\$5.00	\$3,500.00	\$6.00	\$4,200.00	\$4.35	\$3,045.00
9	Clearing And Grubbing	LS	1.0	\$100,000.00	\$100,000.00	\$79,940.00	\$79,940.00	\$103,000.00	\$103,000.00
10	General Excavation	CUYD	28,525.0	\$30.00	\$855,750.00	\$28.00	\$798,700.00	\$17.55	\$500,613.75
11	Subgrade Stabilization	SQYD	500.0	\$40.00	\$20,000.00	\$70.00	\$35,000.00	\$15.00	\$7,500.00
12	Loose Riprap, Class 50	CUYD	20.0	\$150.00	\$3,000.00	\$50.00	\$1,000.00	\$55.00	\$1,100.00
13	Riprap Basins	EACH	5.0	\$750.00	\$3,750.00	\$420.00	\$2,100.00	\$420.00	\$2,100.00
14	12 Inch Ductile Iron Storm Pipe, 5 Foot Depth	FOOT	260.0	\$175.00	\$45,500.00	\$134.50	\$34,970.00	\$155.00	\$40,300.00
15	Concrete Inlets, Type G-2	EACH	1.0	\$4,000.00	\$4,000.00	\$4,310.00	\$4,310.00	\$2,250.00	\$2,250.00
16	Concrete Inlets, Ditch Inlet	EACH	1.0	\$5,000.00	\$5,000.00	\$4,310.00	\$4,310.00	\$2,530.00	\$2,530.00
17	Drainage Curbs	FOOT	975.0	\$35.00	\$34,125.00	\$18.00	\$17,550.00	\$18.50	\$18,037.50
18	Adjusting Boxes	EACH	4.0	\$300.00	\$1,200.00	\$160.00	\$640.00	\$580.00	\$2,320.00
19	Aggregate Base and Shoulders	CUYD	13,100.0	\$40.00	\$524,000.00	\$56.80	\$744,080.00	\$45.00	\$589,500.00
20	Full Depth Reclamation Base	SQYD	26,550.0	\$4.60	\$122,130.00	\$3.10	\$82,305.00	\$2.15	\$57,082.50
21	Level 3, 1/2 Inch ACP Mixture, PG 58-34ER	TON	24,900.0	\$85.00	\$2,116,500.00	\$88.00	\$2,191,200.00	\$96.20	\$2,395,380.00
22	Extra For Asphalt Approaches	EACH	41.0	\$750.00	\$30,750.00	\$1,375.00	\$56,375.00	\$1,300.00	\$53,300.00
23	Concrete Curbs, Standard Curb	FOOT	1,200.0	\$20.00	\$24,000.00	\$20.35	\$24,420.00	\$21.40	\$25,680.00
24	Concrete Curbs, Mountable Curb	FOOT	1,100.0	\$25.00	\$27,500.00	\$23.10	\$25,410.00	\$24.30	\$26,730.00
25	Concrete Drainage Apron	EACH	5.0	\$675.00	\$3,375.00	\$660.00	\$3,300.00	\$693.00	\$3,465.00
26	Guardrail, Type 2A	FOOT	562.5	\$40.00	\$22,500.00	\$35.00	\$19,687.50	\$30.00	\$16,875.00
27	Midwest Guardrail System, Type 2A	FOOT	3,092.5	\$75.00	\$231,937.50	\$35.00	\$108,237.50	\$39.25	\$121,380.63
28	Guardrail Terminals, Non-Flared	EACH	12.0	\$5,000.00	\$60,000.00	\$3,650.00	\$43,800.00	\$3,465.00	\$41,580.00
29	Guardrail Terminals, Flared	EACH	1.0	\$4,600.00	\$4,600.00	\$3,800.00	\$3,800.00	\$4,100.00	\$4,100.00
30	Extra For 8 Foot Posts	EACH	66.0	\$100.00	\$6,600.00	\$50.00	\$3,300.00	\$98.00	\$6,468.00
31	Extra For Hand Dug Guardrail Posts	EACH	38.0	\$300.00	\$11,400.00	\$315.00	\$11,970.00	\$144.40	\$5,487.20
32	Delineators, Type 1	EACH	240.0	\$75.00	\$18,000.00	\$70.00	\$16,800.00	\$69.30	\$16,632.00
33	Thermoplastic, Extruded Or Sprayed, Surface, Non-Profiled	FOOT	117,100.0	\$1.00	\$117,100.00	\$1.25	\$146,375.00	\$1.14	\$133,494.00
34	Pavement Legend, Type AB: Stop	EACH	4.0	\$800.00	\$3,200.00	\$600.00	\$2,400.00	\$605.00	\$2,420.00
35	Pavement Legend, Type AB: Stop Ahead	EACH	4.0	\$1,000.00	\$4,000.00	\$900.00	\$3,600.00	\$981.75	\$3,927.00
36	Pavement Legend, Type AB: Bicycle Lane Stencil	EACH	16.0	\$450.00	\$7,200.00	\$420.00	\$6,720.00	\$462.00	\$7,392.00
37	Pavement Legend, Type AB: Shared Lane Marking	EACH	16.0	\$500.00	\$8,000.00	\$420.00	\$6,720.00	\$462.00	\$7,392.00
38	Pavement Bar: Type AB	SQFT	260.0	\$12.00	\$3,120.00	\$14.00	\$3,640.00	\$14.75	\$3,835.00
39	Green Bicycle Lane, Preformed Thermoplastic Film	SQFT	1,350.0	\$25.00	\$33,750.00	\$15.00	\$20,250.00	\$15.25	\$20,587.50
40	Remove Existing Signs	LS	1.0	\$10,000.00	\$10,000.00	\$2,870.00	\$2,870.00	\$4,740.00	\$4,740.00
41	Sign Support Footings	LS	1.0	\$20,000.00	\$20,000.00	\$47,465.00	\$47,465.00	\$37,110.00	\$37,110.00
42	Perforated Steel Square Tube Slip Base Sign Supports	LS	1.0	\$35,000.00	\$35,000.00	\$36,820.00	\$36,820.00	\$56,365.00	\$56,365.00
43	Signs, Standard Sheeting, Extruded Aluminum	SQFT	757.5	\$30.00	\$22,725.00	\$26.00	\$19,695.00	\$46.20	\$34,996.50
44	Water Quality Mixture	CUYD	1,800.0	\$91.32	\$164,376.00	\$84.35	\$151,830.00	\$63.70	\$114,660.00
45	Permanent Seeding	ACRE	9.0	\$4,000.00	\$36,000.00	\$2,740.00	\$24,660.00	\$2,870.00	\$25,830.00
46	Removing And Rebuilding Fence	FOOT	3,100.0	\$25.00	\$77,500.00	\$27.50	\$85,250.00	\$42.85	\$132,835.00
47	Single Mailbox Support	EACH	20.0	\$550.00	\$11,000.00	\$600.00	\$12,000.00	\$1,039.50	\$20,790.00
48	Multiple Mailbox Support	EACH	22.0	\$1,000.00	\$22,000.00	\$990.00	\$21,780.00	\$1,386.00	\$30,492.00
49	New Mailbox	EACH	2.0	\$500.00	\$1,000.00	\$360.00	\$720.00	\$300.00	\$600.00
-				TOTAL =	\$5,740,054.13	TOTAL =	\$5,293,880.00	TOTAL =	\$5,361,999.99

PROJECT # W66134 BID RESULTS BID OPENING: 2:00 PM 12/17/2025			ENGINEER'S	S ESTIMATE	JAL CONSTRUCTION PO BOX 6269 BEND, OR 97708		ROBINSON & OWENS PO BOX 267 SISTERS, OR 97759		
ITEM		UNIT	QTY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	Mobilization	LS	1.0	\$438.162.99	\$438.162.99	\$425.000.00	\$425,000,00	\$226.130.87	\$226.130.87
2	Temporary Work Zone Traffic Control, Complete	LS	1.0	\$206,972.64	\$206,972.64	\$175,000.00	\$175,000.00	\$129,500.00	\$129,500.00
3	Erosion Control	LS	1.0	\$5,000.00	\$5,000.00	\$5,000,00	\$5,000.00	\$28,750.00	\$28,750.00
4	Check Dam, Type 1	EACH	56.0	\$180.00	\$10,080.00	\$175.00	\$9,800.00	\$270.00	\$15,120.00
5	Sediment Fence	FOOT	16,950.0	\$5.00	\$84,750.00	\$5.00	\$84,750.00	\$4.45	\$75,427.50
6	Construction Survey Work	LS	1.0	\$100.000.00	\$100,000.00	\$50,000.00	\$50,000.00	\$90,650.00	\$90,650.00
7	Removal Of Structures And Obstructions	LS	1.0	\$40,000.00	\$40,000.00	\$12,500.00	\$12,500.00	\$50,450.00	\$50,450.00
8	Asphalt Pavement Saw Cutting	FOOT	700.0	\$5.00	\$3,500.00	\$4.00	\$2,800.00	\$5.00	\$3,500.00
9	Clearing And Grubbing	LS	1.0	\$100,000.00	\$100,000.00	\$200,000.00	\$200,000.00	\$242,500.00	\$242,500.00
10	General Excavation	CUYD	28,525.0	\$30.00	\$855,750.00	\$20.50	\$584,762.50	\$31.00	\$884,275.00
11	Subgrade Stabilization	SQYD	500.0	\$40.00	\$20,000.00	\$25.00	\$12,500.00	\$33.50	\$16,750.00
12	Loose Riprap, Class 50	CUYD	20.0	\$150.00	\$3,000.00	\$75.00	\$1,500.00	\$140.00	\$2,800.00
13	Riprap Basins	EACH	5.0	\$750.00	\$3,750.00	\$250.00	\$1,250.00	\$1,100.00	\$5,500.00
14	12 Inch Ductile Iron Storm Pipe, 5 Foot Depth	FOOT	260.0	\$175.00	\$45,500.00	\$100.00	\$26,000.00	\$155.00	\$40,300.00
15	Concrete Inlets, Type G-2	EACH	1.0	\$4,000.00	\$4,000.00	\$2,000.00	\$2,000.00	\$4,525.00	\$4,525.00
16	Concrete Inlets, Ditch Inlet	EACH	1.0	\$5,000.00	\$5,000.00	\$1,500.00	\$1,500.00	\$4,300.00	\$4,300.00
17	Drainage Curbs	FOOT	975.0	\$35.00	\$34,125.00	\$20.00	\$19,500.00	\$18.15	\$17,696.25
18	Adjusting Boxes	EACH	4.0	\$300.00	\$1,200.00	\$400.00	\$1,600.00	\$440.00	\$1,760.00
19	Aggregate Base and Shoulders	CUYD	13,100.0	\$40.00	\$524,000.00	\$62.00	\$812,200.00	\$59.90	\$784,690.00
20	Full Depth Reclamation Base	SQYD	26,550.0	\$4.60	\$122,130.00	\$5.00	\$132,750.00	\$1.35	\$35,842.50
21	Level 3, 1/2 Inch ACP Mixture, PG 58-34ER	TON	24,900.0	\$85.00	\$2,116,500.00	\$87.50	\$2,178,750.00	\$93.20	\$2,320,680.00
22	Extra For Asphalt Approaches	EACH	41.0	\$750.00	\$30,750.00	\$500.00	\$20,500.00	\$2,600.00	\$106,600.00
23	Concrete Curbs, Standard Curb	FOOT	1,200.0	\$20.00	\$24,000.00	\$20.00	\$24,000.00	\$25.00	\$30,000.00
24	Concrete Curbs, Mountable Curb	FOOT	1,100.0	\$25.00	\$27,500.00	\$23.00	\$25,300.00	\$28.25	\$31,075.00
25	Concrete Drainage Apron	EACH	5.0	\$675.00	\$3,375.00	\$1,000.00	\$5,000.00	\$1,835.00	\$9,175.00
26	Guardrail, Type 2A	FOOT	562.5	\$40.00	\$22,500.00	\$30.00	\$16,875.00	\$34.00	\$19,125.00
27	Midwest Guardrail System, Type 2A	FOOT	3,092.5	\$75.00	\$231,937.50	\$30.00	\$92,775.00	\$31.75	\$98,186.88
28	Guardrail Terminals, Non-Flared	EACH	12.0	\$5,000.00	\$60,000.00	\$3,125.00	\$37,500.00	\$3,545.00	\$42,540.00
29	Guardrail Terminals, Flared	EACH	1.0	\$4,600.00	\$4,600.00	\$4,000.00	\$4,000.00	\$4,115.00	\$4,115.00
30	Extra For 8 Foot Posts	EACH	66.0	\$100.00	\$6,600.00	\$75.00	\$4,950.00	\$76.00	\$5,016.00
31	Extra For Hand Dug Guardrail Posts	EACH	38.0	\$300.00	\$11,400.00	\$300.00	\$11,400.00	\$295.00	\$11,210.00
32	Delineators, Type 1	EACH	240.0	\$75.00	\$18,000.00	\$60.00	\$14,400.00	\$73.65	\$17,676.00
33	Thermoplastic, Extruded Or Sprayed, Surface, Non-Profiled	FOOT	117,100.0	\$1.00	\$117,100.00	\$1.00	\$117,100.00	\$1.27	\$148,717.00
34	Pavement Legend, Type AB: Stop	EACH	4.0	\$800.00	\$3,200.00	\$525.00	\$2,100.00	\$1,120.00	\$4,480.00
35 36	Pavement Legend, Type AB: Stop Ahead Pavement Legend, Type AB: Bicycle Lane Stencil	EACH EACH	4.0 16.0	\$1,000.00 \$450.00	\$4,000.00 \$7,200.00	\$850.00 \$400.00	\$3,400.00 \$6,400.00	\$2,720.00 \$480.00	\$10,880.00 \$7,680.00
37	Pavement Legend, Type AB: Bicycle Lane Stencii Pavement Legend, Type AB: Shared Lane Marking	EACH	16.0	\$450.00 \$500.00	\$8,000.00	\$400.00 \$400.00	\$6,400.00	\$480.00 \$480.00	\$7,680.00
38	Pavement Bar: Type AB. Shared Lane Marking	SQFT	260.0	\$12.00	\$3,120.00	\$400.00	\$3,380.00	\$19.00	\$4,940.00
39	Green Bicycle Lane, Preformed Thermoplastic Film	SQFT	1,350.0	\$12.00	\$3,750.00	\$13.00 \$16.50	\$3,360.00	\$19.00	\$27,000.00
40	Remove Existing Signs	LS	1.0	\$10,000.00	\$10.000.00	\$4,500.00	\$4,500.00	\$4.715.00	\$4,715.00
41	Sign Support Footings	LS	1.0	\$20,000.00	\$20,000.00	\$30,000.00	\$30,000.00	\$69,600.00	\$69,600.00
42	Perforated Steel Square Tube Slip Base Sign Supports	LS	1.0	\$35,000.00	\$35,000.00	\$50,000.00	\$50,000.00	\$56,715.00	\$56,715.00
43	Signs, Standard Sheeting, Extruded Aluminum	SQFT	757.5	\$30.00	\$22,725.00	\$30.00	\$22,725.00	\$52.00	\$39,390.00
44	Water Quality Mixture	CUYD	1.800.0	\$91.32	\$164,376.00	\$75.00	\$135,000.00	\$126.00	\$226,800.00
45	Permanent Seeding	ACRE	9.0	\$4,000.00	\$36,000.00	\$3,000.00	\$27,000.00	\$4,300.00	\$38,700.00
46	Removing And Rebuilding Fence	FOOT	3.100.0	\$25.00	\$77,500.00	\$28.00	\$86.800.00	\$30.00	\$93,000.00
47	Single Mailbox Support	EACH	20.0	\$550.00	\$11,000.00	\$600.00	\$12,000.00	\$740.00	\$14,800.00
48	Multiple Mailbox Support	EACH	22.0	\$1,000.00	\$22,000.00	\$1,250.00	\$27,500.00	\$1,135.00	\$24,970.00
49	New Mailbox	EACH	2.0	\$500.00	\$1,000.00	\$250.00	\$500.00	\$4,550.00	\$9,100.00
				TOTAL =	\$5,740,054.13	TOTAL =	\$5,552,942.50	TOTAL =	\$6,145,033.00

PROJECT #	W66134 BID RESULTS : 2:00 PM 12/17/2025	ENGINEER'	S ESTIMATE	JAMES DEAN CONSTRUCTION INC 579 HWY 141 WHITE SALMON, WA 98672			
	ITEM	UNIT	QTY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	Mobilization	LS	1.0	\$438,162,99	\$438.162.99	\$610.000.00	\$610,000,00
2	Temporary Work Zone Traffic Control, Complete	LS	1.0	\$206,972.64	\$206,972.64	\$130,000.00	\$130,000.00
3	Erosion Control	LS	1.0	\$5,000,00	\$5,000.00	\$1,000.00	\$1,000.00
4	Check Dam, Type 1	EACH	56.0	\$180.00	\$10,080.00	\$200.00	\$11,200.00
5	Sediment Fence	FOOT	16,950.0	\$5.00	\$84,750.00	\$2.00	\$33,900.00
6	Construction Survey Work	LS	1.0	\$100,000.00	\$100,000.00	\$120,000.00	\$120,000.00
7	Removal Of Structures And Obstructions	LS	1.0	\$40.000.00	\$40.000.00	\$10.000.00	\$10.000.00
8	Asphalt Pavement Saw Cutting	FOOT	700.0	\$5.00	\$3,500.00	\$1.00	\$700.00
9	Clearing And Grubbing	LS	1.0	\$100,000.00	\$100,000.00	\$30,000.00	\$30,000.00
10	General Excavation	CUYD		\$30.00	\$855,750.00	\$20.00	\$570,500.00
11	Subgrade Stabilization	SQYD	500.0	\$40.00	\$20,000.00	\$30.00	\$15,000.00
12	Loose Riprap, Class 50	CUYD	20.0	\$150.00	\$3,000.00	\$50.00	\$1.000.00
13	Riprap Basins	EACH	5.0	\$750.00	\$3,750.00	\$500.00	\$2,500.00
14	12 Inch Ductile Iron Storm Pipe, 5 Foot Depth	FOOT	260.0	\$175.00	\$45,500.00	\$150.00	\$39,000.00
15	Concrete Inlets, Type G-2	EACH	1.0	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00
16	Concrete Inlets, Ditch Inlet	EACH	1.0	\$5.000.00	\$5,000.00	\$4.000.00	\$4,000.00
17	Drainage Curbs	FOOT	975.0	\$35.00	\$34,125.00	\$20.00	\$19,500.00
18	Adjusting Boxes	EACH	4.0	\$300.00	\$1,200.00	\$1,500.00	\$6,000.00
19	Aggregate Base and Shoulders	CUYD		\$40.00	\$524,000.00	\$46.00	\$602,600.00
20	Full Depth Reclamation Base	SQYD		\$4.60	\$122.130.00	\$8.00	\$212.400.00
21	Level 3, 1/2 Inch ACP Mixture, PG 58-34ER	TON	24,900.0	\$85.00	\$2,116,500.00	\$113.00	\$2,813,700.00
22	Extra For Asphalt Approaches	EACH	41.0	\$750.00	\$30,750.00	\$2,100.00	\$86,100.00
23	Concrete Curbs, Standard Curb	FOOT	1,200.0	\$20.00	\$24,000.00	\$24.00	\$28,800.00
24	Concrete Curbs, Mountable Curb	FOOT	1,200.0	\$25.00	\$27,500.00	\$30.00	\$33.000.00
25	Concrete Drainage Apron	EACH	5.0	\$675.00	\$3,375.00	\$800.00	\$4,000.00
26	Guardrail, Type 2A	FOOT	562.5	\$40.00	\$22,500.00	\$35.00	\$19,687.50
27	Midwest Guardrail System, Type 2A	FOOT	3,092.5	\$75.00	\$22,300.00	\$35.00	\$108,237.50
28	Guardrail Terminals, Non-Flared	EACH	12.0	\$5,000.00	\$60,000.00	\$4,000.00	\$48,000.00
29	Guardrail Terminals, North laied Guardrail Terminals, Flared	EACH	1.0	\$4,600.00	\$4,600.00	\$4,500.00	\$4,500.00
30	Extra For 8 Foot Posts	EACH	66.0	\$100.00	\$6,600.00	\$100.00	\$6,600.00
31	Extra For Hand Dug Guardrail Posts	EACH	38.0	\$300.00	\$11.400.00	\$320.00	\$12.160.00
32	Delineators, Type 1	EACH	240.0	\$75.00	\$18,000.00	\$70.00	\$16,800.00
33	Thermoplastic, Extruded Or Sprayed, Surface, Non-Profiled		117,100.0	\$1.00	\$10,000.00	\$1.20	\$140,520.00
34	Pavement Legend, Type AB: Stop	EACH	4.0	\$800.00	\$3,200.00	\$1,250.00	\$5,000.00
35	Pavement Legend, Type AB: Stop Ahead	EACH	4.0	\$1.000.00	\$4.000.00	\$1,000.00	\$4.000.00
36	Pavement Legend, Type AB: Stop Afread Pavement Legend, Type AB: Bicycle Lane Stencil	EACH	16.0	\$450.00	\$7,200.00	\$500.00	\$8,000.00
37	Pavement Legend, Type AB: Shared Lane Marking	EACH	16.0	\$500.00	\$8,000.00	\$500.00	\$8,000.00
38	Pavement Bar: Type AB	SQFT	260.0	\$12.00	\$3,120.00	\$16.00	\$4,160.00
39	Green Bicycle Lane, Preformed Thermoplastic Film	SQFT	1,350.0	\$25.00	\$33,750.00	\$16.00	\$21,600.00
40	Remove Existing Signs	LS	1.0	\$10.000.00	\$10.000.00	\$3,500.00	\$3,500.00
41	Sign Support Footings	LS	1.0	\$20,000.00	\$20,000.00	\$30,000.00	\$30,000.00
42	Perforated Steel Square Tube Slip Base Sign Supports	LS	1.0	\$35,000.00	\$35,000.00	\$5,000.00	\$5,000.00
43	Signs, Standard Sheeting, Extruded Aluminum	SQFT	757.5	\$30.00	\$22,725.00	\$100.00	\$75,750.00
43	Water Quality Mixture	CUYD	1,800.0	\$91.32	\$164,376.00	\$50.00	\$90,000.00
45	Permanent Seeding	ACRE	9.0	\$4,000.00	\$36,000.00	\$3,500.00	\$31,500.00
46	Removing And Rebuilding Fence	FOOT	3.100.0	\$25.00	\$77,500.00	\$50.00	\$155,000.00
47	Single Mailbox Support	EACH	20.0	\$550.00	\$11,000.00	\$425.00	\$8,500.00
48	Multiple Mailbox Support	EACH	22.0	\$1,000.00	\$22,000.00	\$600.00	\$13,200.00
49	New Mailbox	EACH	2.0	\$500.00	\$1,000.00	\$100.00	\$13,200.00
49	INGW MAIDOY	LACI	2.0	\$500.00 TOTAL =		\$100.00 TOTAL =	\$6.209.815.00
				TOTAL =	φο, <i>ι</i> 4υ,υο4.13	TOTAL =	შ ნ,∠სშ,615.00